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%JMMW Four Parts. Each Question Carries 5 Marks. CO | BL
a) | Briefly discuss about Finite Automata with Epsilon- Transitions. co1) 2
(b) | Design a DFA which accepts set of all strings which are divisible by 5 for binary co1| 6
alphabet,
(€) | Find the regular expression from the given FA. coi| 3
i
|
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@ What do you understand by a generalized transition graph (GTG)? co1 1
(8) | Prove that regular set L={a" |k is a prime number} is not regular. coi1| 6
1 Q. No 2 | Attempt Any Four Parts. Each Question Carries 5 Marks. Co [ BL
 (a) | Construct the regular grammar from the following finite automata. co2| 3
, ‘
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| 0,1
(b) | Obtain the regular expression from the following finite automata. co2 1
() | Define Regular Expression? Explain about the Properties of Regular Expressions. co2| 2
(d) | Design a Mealy Machine that prints “a” whenever the sequence 01" is encounteredin | CO2 | 6
any input binary string.
(e) Evaluate the regular grammar that generates the language {w | w contains an even co2| s
number of 0s} over Y={0,1}*.
| Q. No 3 [ Attempt Any Four Parts. Each Question Carries 5 Marks. co [ BL|
| (a) | Explain about Ambiguity in Grammars and Languages with example. co3 2
' (b) What are the decision problem of CFLs? Explain each problem. Co3 | 1
() | Simplify the following grammar. S>ABBClaACbla, A->AAB[BD|abD|C, Co3 | 5
L C->CA|Sla, D->d, E2ab
C(d) | Define Chomsky Normal Form (CNF). Convert the following grammar to CNF S- co3 | 2
‘ | >080[1S1] €.
- (e) | Construct CFG without ¢ — production from the one which is given below cCO3 6
,1 S—a|Ab|aBa
? A—ble
i ' B—b|A I R
' Q. No 4 [ Attempt Any Two Parts. Each Question Carries 10 Marks. [ co 8L
' (a) | Convert the grammar S->0AA, A ->08/18/0 to a PDA that Accepts the same co4 3
| Language by Empty Stack. | |
(b) | Define the Concept and working of a PDA. Why can’t we use queue data structure in | CO4 = 5 |
| PDA as an auxiliary memory? - ; 4
~(€) | Construct a PDA accepting {a" b™ a" |m, n>1} by null store. From the PDA construct | CO 4 5

| the correspondine CFG.

102




:No 5 _Attempt Any Two Parts, Each Question Carries 10 Marks. C((:)OS B4L
\_(L Give the correspondence between P, NP and NP-complete problems. o5 s
(b) Write short notes on the following:
(1) UTM.
(2) Church-Turing thesis
3) Recursive language
T_Constru(ct)a Turing Mach%ne%hat will accept the Language consists of all palindromes cCoO5| 6
of 0’s and 1°s?
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